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Part 1 Listening Comprehension
Section A
I. A} He wenl to 2ee s schoolmate.

B} He went 1o see a film with his friend.

. A) Who are going o attend the meeting,

B) What's 10 be discussed at the meeting,

. A) The arrangement of the Wednesday meeting.

B) Where they are going o meet Mr. Johnson.
) The necessity of writing to Mr. Johnson,
[} Who is poing to contact Mr. Johnson.

. A) The tape was missing.

B} The lape had been retumed o Paul,

A) The man reserved a room some time ago,

H] T'}I!.‘ muan wants to ]')uj- a ﬂﬂl on I]"Il": :-ltE.'t‘ﬂI'Id ﬂ_l‘ll’_rr.

1) The man has booked & room with no bath,

[} The man wants to reserve a room.

. A} The paperback cdition is on sale,

B} Both editions are the same price now.
A) He has the best TV sets for sale,
B) Hiz TV sets have a good sale.

. A} He has w read a history book,

B} He is too busy 1o go with her,
A} They are enledaining.

B} They are time-consuming.

10 A) A ramcoal.

B A sunny day,

{ 20 minutes)

C) He watehed television with his friend.,

D} He stayed a1 home talking with his frend.
C} Where the meciing is to be held,

I When the meeting is to be held.

C) Jack lent his tape (o Paul.
D7 Jack brought the tape to the party.

C3 It has two editions with 1he same cover.

107 The hardcover edition is more expensive.

C1 His TV setg are all of the sume brond,

1) He doesn’t have the newest models rght now.
C) He has already visitead the muscum.

D} He must hand in a report aboot the musewm.
C) Thev are boring,

D) They are rewarding.

C) A lovely hat,

[ An attractive hut.

C) She decided 10 retre.
D) She entered university.
CF 20 years,

Iy 30 vears.

Section B

Passage One

[1. A) She sar back amd relaxed.
i) She worked out a new English program.

12, A) 8 vears.
B) 16 years,

13. A) Bring a fear of aging among young students on the campus,
B} Bring a great deal of useful experience to the wniversity.
C) Improve human relationships in the university,
1}y lmprove the reputation of the university.

14, A} She is leaming how ta teach minority students.

B) She is learning how 1o make sound judgments.

Passage Two

15.

A) How to improve your reasoniog ability.

) She is leamning to perceive, not to judge.

1) She is leaming English and Drama.

B) Why classical music is popular with math students.

— 1



() The difference between classical music and rock music.

D) The effects of music on the results of math tests.

16. A) Because it keeps you calm.
B) Because it strengthens your memory.
C) Because it stimulates your nerve activity.
D) Because it improves your problem solving strategies.
17. A) The effects of music do not last long.
B
C) Music, whether classical or rock, helps improve your memeory.

D) The more you listen to musie, the higher your test scores will be.

Piano music could interfere with your reasoning ability.

Passage Three

18. A) To prevent car accidents. C) To drive the car automatically.
B) To monitor the driver's health. D) To measure the driver's pulse.
19. A) Tt sends ont signals for help. C) I stops the car automatically.
B) It 1akes over the driving immediately D) It sounds an alarm to wam the driver.

20. A} It can measure the driver's alcohol level in the blood.
B} It bases its analysis on the driver's heartbeat.
C) Tt can quicken the driver's response to emergencies.

D) It monitors the signals transmitted from the driver's brain.

Part I Reading Comprehension {35 minutes)

Questions 21 to 25 are based on the following passage :

The view over a valley of a tiny village with thatched( B35 ) roof cottages around a church; a drive
through a narrow village street lined with thatched cottages painted pink or white; the sight over the rolling
hills of a pretty collection of thatched furm buildings — these are still common sights in parts of England.
Most people will agree that the thatched roof is an essential part of the attraction of the English countryside.

Thatching is in fact the oldest of all the building crafts practiced in the British Isles{ B8 ). Al-
though thatch has always been used for cottage and farm buildings, it was once used for castles and churches,
oo,

Thatching is a solitary (T [ (1)) craft, which often runs in families. The craft of thatching as it is prac-
ticed today has changed very litile since the Middle Ages. Over 800 full-time thatchers are employed in Eng-
land and Wales today, maintaining and renewing the old roofs as well as thatching newer houses. Many prop-
erly owners choose thatch not only for its beauty but because they know it will keep them cool in summer and
warm in winter.

In fact, if we look at developing countries, over half the world lives under thatch, but they all do it in
different ways. People in developing countries are often reluctant to go back to traditional materials and would
prefer modern buildings. However, they may lack the money to allow them to import the necessary materials.
Their temporary mud huts with thaiched roofs of wild grasses often only last six months. Thatch which has
heen done the British way lasts from twenty to sixty years, and is an effective defense against the heat.

21. Which of the following remains a unique feature of the English countryside?

A) Cottages with thatched roofs.

B) Churches with cottages around them.

C) Rolling hills with pretty farm buildings.

D) Narrow streets lined with pink or white houses.

22. What do we know about thaiching as a craft?

A) It is quite different from what it used to be.

—_2




B) It is in most cases handed down among family members.
C) It-is practised on farms all over England.
D) It is a collective activity.

23. Thatched houses are still preferred because of .

A) their durability C) their cheap and ready-made materials

B) their easy maintenance D) their style and comfort
24. People in developing countries also live under thatch because

A) they like thatched houses better than other buildings

B) thatch is an effective defence against the heat

C) thatched roof houses are the cheapest

D) thatched cottages are a big tourist attraction
25. We can learn from the passage that

A) the English people have a special liking for thatched houses

B) most thatched cottages in England are located on hillsides

C) thatching is a building craft first created by the English people

D) thatched cottages in England have been passed down from ancient times
Questions 26 to 30 are based on the following passage:

President Coolidge’s statement, “The business of America is business, " still points to an important truth
today — that business institutions have more prestige( B{®) in American society than any other kind of or-
ganization, including the govemment. Why do business institutions possess this great prestige?

One reason is that Americans view business as being more firmly based on the ideal of competition than
other institutions in society. Since competition is seen as the major source of progress and prosperity by most
Americans, competitive business institutions are respected. Competition is not only good in itself, it is the
means by which other basic American values such as individual freedom, equality of opportunity, and hard

work are protected.

Competition protects the freedom of the individual by ensuring that there is no monopoly ( EWf) of pow-
er. In contrast to one, all-powerful govemment, many businesses compete against each other for profits. The-
oretically, if one business tries to take unfair advantage of its customers, it will lose to competing business
which treats its customers more fairly. Where many businesses ccmpete for the customers’ dollar, they cannot
afford to treat them like inferiors or slaves.

A contrast is often made between business, which is competitive, and government, which is a monopoly.
Because business is competitive, many Americans believe that it is more supportive of freedom than govemn-
ment, even though government leaders are elected by the people and business leaders are not. Many Ameri-
cans believe, then, that competition is as important, or even more important, that democracy in preserving
freedom.

Competition in business is also believed to strengthen the ideal of equality of opportunity. Competition is
seen as an open and fair race where success goes to the swiftest person regardless of his or her social class
background. Competitive success is commonly seen as the American alternative to social rank based on family
background. Business is therefore viewed as an expression of the idea of equality of opportunity rather than
the aristocratic{ Bt idea of inherited privilege.

26. The statement *The business of America is business” probably means*

A) America is a great power in world business

B) Business is of primary concern to Americans

C) The business institutions in America are concerned with commerce

D) Business problems are of great importance to the American government
27. Americans believe that they can realize their personal values only
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A) by protecting their individual freedom C) by way of competition

B) when given equality of opportunity D) through doing business
28. Who can benefit from business competition?
A) People with ideals of equality and freedom. C} Honest businessmen.
B) Both business institutions and government. D) Both businessmen and their customers.

29. Government is believed to differ strikingly from business in that government is characterized by

A) its role in protecting basic American values

B) its absolute control of power

C) its democratic way of exercising leadership

D) its function in preserving personal freedom
30. It can be inferred from the passage that the author believes

A) in many countries success often depends on one's social status

B) businesses in other countrics are not as competitive as those in America

C) American businesses are more democratic than those in other countries

D) Americans are more ambitious than people in other countries
Questions 31 to 35 are based on the following passage

The appeal of advertising to buying motives can have both negative and positive eflects. Consumers may
be convinced to buy a product of poor quality or high price because of an advertisement. For example, some
advertisers have appealed to people’s desire for better fuel economy for their ears by advertising automotive
products that improve gasoline mileage. Some of the products work. Others are worthless and a waste of
consumers’ money.

Sometimes advertising is intentionally misleading. A few years ago a brand of bread was offered to dicters
( F &) with the message that there were fewer calories ( g B 7, A -F) in every slice. It turned out
that the bread was not dietetic (154 T P HEM ), but just regular bread. There were fewer calories because
it was sliced very thin, but there were the same number of calories in every loaf.

On the positive side, emotional appeals may respond to a consumer’s real concerns. Consider fire insur-
ance. Fire insurance may be sold by appealing to fear of loss. But fear of loss is the real reason for fire insur-
ance. The security of knowing that property is protected by insurance makes the purchase of fire insurance a
worthwhile investment for most people. If consumers consider the quality of the insurance plans as well as the
message in the ads, they will benefit from the advertising.

Each consumer must evaluate her or his own situation. Are the benefits of the product important enough
to justify buying it? Advertising is intended to appeal to consumers, but it does not force them to buy the
product. Consumers still control the final buying decision.

31. Advertising can persuade the consumer to buy worthless products by

A) maintaining a balance between quality and price

B) convincing him of their low price

C) appealing to his buying motives

D) stressing their high quality
32. The reason why the bread advertisement is misleading is that

A) the total number of calories in the loaf remained the same

B) thin slices of bread could contain more calories

C) the loaf was cut into regular slices

D) the bread was not genuine bread
33. The passage tells us that _

A) advertisements occasionally force consumers into buying things they don’t need

B) the buying motives of consumers are controlled by advertisements
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C) sometimes advertisements really sell what the consumer needs

D) fire insurance is seldom a worthwhile investment
34. It can be inferred from the passage that a smart consumer should .

A) be familiar with various advertising strategies

B) think carefully about the benefits described in the advertisements

C) guard against the deceiving nature of advertisements

D} avoid buying products that have strong emotional appeal
35. The passage is mainly about _

A) ways to protect the interests of the consumer

B) how to make a wise buying decision

C) the function of advertisements in promoting sales

D} the positive and negative aspects of advertising
Questions 36 to 40 are based on the following passage.

So long as teachers fail 1o distinguish between teaching and leaming, they will continue to undentake to
do for children that which only children can do for themselves. Teaching children to read is not passing read-
ing on 1o them. It is certainly not endless hours spent in activities about reading. Douglas insists that “read-
ing cannot be taught directly and schools should stop trying to do the impossible. ”

Teaching and leaming are two entirely different processes. They differ in kind and function. The func-
tion of teaching is to create the conditions and the climate that will make it possible for children to devise the
most efficient system for teaching themselves to read. Teachmng is also a public aetivity: It can be seen and
u})ser\.'ed.

Leaming to read involves all that each individual does to make sense of the world of printed language.
Almost all of it is private, for leaming is an occupation of the mind, and that process is not open 1o public
scrutiny.

If teacher and leamner roles are not interchangeable, what then can be done through teaching that will aid
the child in the quest ( ## ) for knowledge? Smith has one principal rule for all teaching instructions.
" Make leaming to read easy, which means making reading a meaningful, enjoyable and frequent experience
for children. ”

When the roles of teacher and leamner are seen for what they are | and when both teacher and leamer ful-
fill them approprately, then much of the pressure and feeling of failure for both is eliminated. Learning to
read is made easier when teachers create an environment where children are given the opportunity to solve the
problem of leaming 10 read by reading.

36. The problem with the reading course as mentioned in the first paragraph is that

A) too much time is spent in teaching about reading

B) reading tasks are assigned with linle gnidance

C) it is one of the most difficult school courses

D) students spend endless hours in reading
37. The teaching of reading will be successful if

A) teachers can make their teaching activities observable

B) teachers can devise the most efficient system for reading

C) teachers can improve conditions at school for the students

)} teachers can enable students to develop their own way of reading
38. The word “scrutiny” ( Line 3, Para. 3) most probably means *

A) suspicion C) observation

B) control D} inquiry
39. According to the passage, leamniig .. read will no longer be a difficult task when
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A) teaching helps children in the search for knowledge
B) teacher and leamner roles are interchangeable
C) reading enriches children’s experience
D) children become highly motivated
40. The main idea of the passage is that
A) reading is more complicated than generally believed
B) reading ability is something acquired rather than taught
C) teachers should encourage students to read as widely as possible

D) teachers should do as little as possible in helping students leamn to read

Part I Vocabulary and Structure (20 minutes)
41. A person’s calorie requirements vary ___ his life.
A) within B) over C) throughout D) across
42. A survey was carried out on the death rate of new-born babies in that region, were surprising.
A) the results of which C) the results of it
B) as results D) which results
43, Generous public funding of basic science would considerable benefits for the country's health,
wealth and security.
A} result from B) settle down C) lie in D} lead to
44, In atime of social reform, people’s state of mind tends to keep ___ with the rapid changes of society.
A) step B) pace C) touch D) progress
45. in an atmosphere of simple living was what her parents wished for.
A) The girl to be educated C) The girl educated
B) The girl's being educated D) The girl was educated
46. _ the calculation is right, scientists can never be sure that they have included all variables and
modeled them accurately.
A) If only B) So long as C) Even if D) As far as
47, My train arrives in New York at eight o’clock tonight. The plane I would like to take from there ___
by then.
A} will have left B) would leave C) had left D} has left
48, The speech which he made the project has bothered me greatly.
A) concerned C) conceming
B) being concerned D) be concerned
49, Harry was by a bee when he was collecting the honey.
A) scratched B} bitten C) stuck D) stung
50. The thief tried to open the locked door but _
A) in vain B} in no way C) at a loss D} without effect
51. All flights because of the snowstorm, many passengers could do nothing but take the train.
A} were canceled C) had been canceled
B) having been canceled D) have been canceled
52. seeing the damage he had done, the child felt ashamed.
A) At B) By C) On D) For
53. Remember that customers don't about prices in that city.
A} debate B) dispute C) bargain D) consult
54. Research findings show we spend about two hours dreaming every night, no matter what we dur-

ing the day.
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A) must have done C) should have done

B) would have done D) may have done
55. 1 hope that you'll be more careful in typing the letter. Don't anything.
A) omit B) leak C) lack D) withdraw
56. This crop does not do well in soils _____ the one for which it has been specially developed.
A) beyond B) rather than C) outside D) other than
57. “You are very selfish. It’s high time you that you are not the most important person in the
world,” Edgar said to his boss angrily.
A) have realized B) should realize C) realize D) realized
58. These two areas are similar they both have a high rainfall during this season.
A) except that B) in that C) besides that D) to that
59. The tomato juice left a brown on the front of my jacket.
A) track B} trace C) spot D) point
60. If I hadn’t stood under the ladder to calch you when you fell, you _ now.
A) couldnt have smiled C) didn't smile
B} wouldnt be smiling D} won't smile
61. The committee is totally opposed ____ any changes being made in the plans.
A) of B) apainst C) on D) to
62. We'll visit Europe next year ___ we have enough money.
A) provided B} unless C) until ) lest
63. My father seemed to be in no ___ 1o look at my school report.
A) feeling B) attitude C) emotion D) mood
64. When he realized the police had spotted him, the man ____ the exit as quickly as possible.
A) made for B} made off C) made up [}) made out
65. | was advised 1o arrange for insurance I needed medical treatmant.
A) so that B) in case C) although D) nevertheless
66. Frankly speaking, I'd rather you ___ anything about it for the time being.
A) have done B) haven't done  C) don't do D) didn't do
67. I'm sorry I can’t see you immediately; but if you'd like 10 take a seat, I'll be with you
A) in a moment B) for a moment C) at the moment D) for the moment

68. The trumpet player was certainly loud. But I wasn't bothered by his loudness by his lack of tal-

ent.
A) more than B) than C) so much as D) as
69. Our new house is very for me as 1 can get to the office in five minutes.
A) adaptable B) convenient C) available D) comfortable
70. Our journey was slow because the train stopped at different villages.
A) continually B} continuously  C) gradually D) unceasingly
Part IV Short Answer Questions (15 minutes)

Would-be language teachers everywhere have one thing in common: they all want some recognition of
their professional status and skills, and a job. The former requirement is obviously important on a personal
level, but it is vital if you are to have any chance of finding work.

Ten years ago, the situation was very different. In virtually every developing country, and in many de-
veloped countries as well, being a native English speaker was enough to get you employed as an English
teacher.

Now employers will only lock at teachers who have the knowledge, the skills and attitudes to teach Eng-
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lish effcetively. The result of this has been to raige non-native English teachers 1o the same status as their n-
ative counterparts ( K AT REEY A ) — something they have always deserved but seldom enjoyed. Non-natives
arer now happy — linguistic discrimination{ 145 & FAEEHR) bs 4 thing of the past.

An ongoing research project, funded by the University of Cambridge, asked a sample of teachers, teach-
er educators and emplovers in more than 40 countres whether they regand the native/ non-nalive speakers dis-
tinction as being at all important. “NO7 was the answer. As long as candidates could teach and had the re-
quired level of English, it didnt matier who they were and where they came from. Thus, a new form of dis-
crimination — this tme justified beeawse it singled out the unqualified — liberated the linguistically oppressed
(FEESD. Bu the Cambridge project did more than just that: it confitmed that the needs of native and
non-pative teschers are exteemely similar,

Questions { {F 5. SR AR, & 10 T Emsy. §EMAEE - REQRE, TSN
4.

S1. The selection of Epglish teachers used to be mainly based on

82, What did non-native English teachers deserve but seldom enjoy?

83, What kind of people can now find a job as an English weacher?

4. What is the result of the * new form of disernmipatien”™ { Line 4, Para. 4%

Part V Writing { 30 minutes

Directions : For this part, you nre allowed thinty minutes 0 write @ composition on the topic Don't Hesitate to
say “No" . You showld weite wqr lease 100 words and you shoufd base yvour composttion on the out-
fine { given in Chinese ] belin
LR Wk RS, (it AR PR TSR
20 H A H BRI AT R AR AT
IR ATBAN S AT R

Don" t Hesitate to Say "No"
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Pat | DBCAA  BABDC  DCBC  DCA  ADB

Part  ABDCD BCDBA CACBD ADCDB
Part M CADBB CACDA BCCDA DDBCB DADAB DACBA
Part [V S1. whether or not one was a native speaker. $2. The same status as their native counterparts.
$3. Ones who can teach and have the required English level. /He has the required English level and teach-
ing skills. $4. It singled out the unqualified. 5§ It liberated non-native English teachers.
S5. qualified English teachers but non-native speakers.

Part 1 Listening Comprehension

Section A

1. W. Did you see last night"s film on channel 47

M Well. ! meant to see it, but a friend of mine came to see me. We had a HMIB talk about our school days.

Q: What did the man do last mghl—’ (D]

[BR] D) ABEREEE. man FEEHH bu gl H B EERZ," We have a nice long talk” . B+
B REE AR ERT RNGIRT Y¥EBRAF . SHZELYE.

[BaBE) A) M man g9EIE PR LI, BAGH —MBARFM, FEMmE £, B) man NN AS
RTHNEFEHAF MAR—ELELE, O) MERA HEMENETERERHH
man &4 watch TV,

2. W: Did you get my message about the meeting on Monday?

M: Yes, [ did. But I'm still not quite sure what the meeting is about. Not bad news | [ hope.

Q: What does the man wich to know most? [B]

[BHR] B) M man filal B b F ), b E T #" What the meeting is abow” , BRI & iX 4 EBMKE .

[BaBt] A) C) D) man TR S EE, MHESW ARG NS IAY.

3. W: You have arranged to meet Mr. Johnson on Wednesday. So I don’t have to write to him, do 1?7

M: There’s no need to write to him.
Q: What are the speakers talking about? [cj
[BER] C) woman iR IRCZETER =4 R Johnson &4, FFURHBEEET . X4 8E R4 P man f#
ho BTLASEB AT S THE R A& S E A,
[8aB#] A) B) $F% aranged 31, (AXHEH ERAITICSEHNEH, ERFIHCENE LE, H2REE
FRiE, D) WiFHRAEDERAKE Mr. Johnson IFERIMPHERBRLEZRT .
4. W Did Jack find the tape he borrowed from Paul? Do you know?

M: He looked everywhere for it, but in the end he had to go to the party without it.

Q: What do we learn from the conversation? [A]
[ER] A) M man B BIEHF, B Jack BILHRE T, BREREH KT wpe, RESFEMES, KH
tape F & [

[B&B#] B) £ 3t woman BYEE IR TR, BAMBEFEFUECLHLNER. C) KkEFEM LEFHER R
Paul 38 tape {§44 T Jack, D) WS ® A, M\ man # B " go to the party without it” 8] LUMIH , %%
FEBHERR . .

5. M: Hello, my name is Carlson. I helieve vou have a room booked( fi]) for me. i

W Carlson? Oh, yes, Mr. Carlson. It's a single room with a bath{ #F {4 A8 A F51E] ) , on the second floor. 1

hope it will suit you, sir.

Q: What does the conversation tell us? [A)
[HER) A) MOESHAT LB M ZEREWEF ARMBERE. man LB IR RERERE
woman R RE T —BIHBEXENFE, L s
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[ BHBK] B) #13t second floor it , 3R HEAI M, HIERIF B HZE ., C) M woman By 7]
LIE Y, man HiE 09 BRI H B EN, SEFHK. D) WXHEF R, man 2L WELFHR T, H
JEHESE Teserve,

6. M; Do you have the paperback edition( 2% 4<) of this dictionary?

W: Yes, We do. But the hard cover( Hi$RE 45 ) is on sale( BEHI %) for the same price as the paperhack.

Q: What does the woman say about the dictionary? [B]

[H8R] B) woman Y EIEFIREGEH T h TR WA, HAEARTENER—H.

[BaBt] A) M, 3G P EBEE L BT B2 hard cover(B3ERRAR ) - C) #13F paperback edition( 32
A ) #0 hard cover( SRR A ) 3T, A ENTABEEFTHEARR woman IENNE, D) MEBRA.
23 hard cover T 8t {8 £ f1 TWfft, BLAE 0 paperback edition f1#%—H& .

7. W, Are these TV sets the newest models?

M: Sure. They represent the latest technology. Actually, we sell nothing but the best( K {ITH LHIF ).

Q: What does the man mean? [al

[§BER] A) 7 actually 5, man ii.: " we sell nothing but the best. " Bl 1 AL RIFAH L.

(Balt] B) BRFE, WL RS SRR, F AT M RERT, O XhER, HEHFR
HiBB IR RS E— M, D) MERA, A man B sure” 8] LI E 1, BTF the newest
models,,

8. W. Are you coming with me to the history museum, Josh?

M: | already have my hands full{ ﬁf&%ﬁﬂ‘ﬁf}ﬁ) with this book report.

Q: What does the man mean? [B]

[EAR) B) woman 627 S5kt EBEYEL, Man BIEE R, MR RMET PR TREBHIRE .
S BT have my hands full with some thing 5 too busy to do something 3 B AR,

[ B&B#] A) D) ¥ history museum Fii book report $¥ 5| —i2 , KB AT EEE -MERMEE, C) XhZE
H,man B ET B O FEEZE, BR AT book report, I 4 E £ %3 history museum T .

9. M. How are your piano lessons going?
W. Very well. My teacher thinks I'm making progress. And I find lessons well-worth the time and trouble.

Q: What does the woman think of H®r piano lessons? [D]

[H88) D) woman [E1%5 3K SR B & well-worth, Hll rewarding, (H18#7.

[BEB#] A) woman J2 K IFEE IR entertaining, AHEPRA R K, B X2 {E78 time and trouble, B) C)
M. woman 1512 B well-worth the time, 7] L& B 3 13 JE 19 18] (678 , 3 4 time-consuming,, 3 A
boring.. :

10. M. Is that ni(-e—lookin& straw hat( 5i3H ) light and strong?

W: Yes, you can wear it rain or shine.

Q. What are they talking about? [C]

[BER] C) man AYIERTEM] hat( F4E) , X EMETTERFY.

[BABE] A) 413 rain i it T3, (B3GR 05 F RARET LU, B 2R RATRERFIAK, B) §f3¢ shine ],
{HAHEHEEIHE RS D) hut(/NE L HE) Al hat R EAL EEE R,

Section B

Passage One

After retiring from 30 years of teaching, Ethell Pepper could easily have decided to sit back and relax and enjoy
a peaceful retirement. But that kind of life is not for Ethell Pepper. “I just wanted to do something different. If you
are going to participant in life, do it. Don’t just sit down and look out the windaw. " She seys. (11)At 68, she de-
cided to berome one of the pioneer participation in a program at the university of California. The program offers cam-
pus housing and classes to people over sixty. She enrolled in a class called Human Relationships and 2 Diverse socie-
ty. “1 taught my minority students in my English and drama classes in high school for (12)20 years. But in this
course, I found out a lot about other cultures that I didn’t know them. (14 )One of the more important lessons that I'm
learning is to perceive( ML AR, not to judge. " QOlder adults can add to the educational resources of university
by (13)}bringing with them a lot of valuable experience. Their presence on campus helps break some long believes on
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aging. Young students may have fears of growing older. But that kind of fear can be reduced as they see that older
people can be active, healthy, and continue to contribute to society. The younger students can begin to see aging as

a natural part of living.

11. What did Ethell do when she was 687 (D]
12. How long did Ethell teach minority students? [c]
13. What do elderly people do to the university? [B]
14. What's the most important lesson Ethell is learning? [c]

Passage Two

Do you have a lough math test coming up? Then listen to some classical piano music just before the test. You
might end up with a higher score. Researchers at a university in Califomia conducted an experiment. They asked a
group of college students to listen to some piano music by a famous 18th century composer before taking a math test.
They were surprised to find that the students’ scores jumped 8 to 9 points. ( 16) The music seems to excite nerve ac-
tivities in the brain; similar to the activity that occurs when a person is figuring out a math problem. However, the
scientists warn that before you get 1oo excited about applying this method to your math test, you should remember that
(17 ) brain exciting effects last{ F542 ) only 10 10 15 minutes. Would rock music work as well as the piano music did?

No, the scientists say. In fact, the less complex music might even interfere with the brains reasoning ability.

15. What is this passage mainly about?” (D]
16. Why can classical music play a positive( Flt A, IEH4)) role in problem solving? o
17. What is one of the findings of the research? [A]

Passage Three
When a sleepy driver has trouble with keeping his eyes on the road and gets too close to another car, (19})an

alarm sound will warn the driver. If nothing is done, the car will automatically come to a stop and in this way (18}

prevent an accident. This is a new device which will scon be tested in an experimental car in Japan. The computer
warning system keeps track of a driver's condition by monitoring( ##8, {5l ) his heart beat with signals transmitted

from a band around his wrist. (20) The wrist band records the driver's pulse which measures the heart beat. Each
pulse in the wrist sends a signal to the computer. By analyzing the pulse rat®, the computer can determine whether a

driver is drunk, sleeping or ill. Devices in other parts of the car can also tell the computer if the car is too close to an-

other vehicle or is moving dangerously. (19)The computer will sound the alarm when a Erublem artses, and will auto-

matically stop the car if the driver ignores the waming.

18. Why is a computer system installed in an experimental car? TA]
19. What does the computer system do first when a problem arises? D]
20. What is special about the new computer system? B

Part 1 Reading Comprehension

Passage One

[FiFER]
thatched [ Bzetfd] adj. 2% cottage [ 'kotidz ] n. Ff &, /58
craft _kra:ft] n. T, F 2 solitary [ 'solitari] adj. JLEHAY
defiance [ di'faians] n. Bkik, B, Bl

(@A)

The craft of thatching as it is practiced today has changed very litle since the Middle Ages.
A R—AE 4], b 489 F15 R The craft of thatching, i§ifJ& has changed;as 5 7 A ARE AT
P E: BT CEL AL (5
(RE5H]
u. [ER] A) 0V RIS, EHKERES | BR8] Most people will agree that the thatched roof is an es-
sential part of the attraction of the English countryside. ", FERTREESHWE S RLE, LW A)

5z eMT.



[RaBR) B) TR, P RAT church 1131550 Churches with codtages around them, A~ &) 1 088 B {1
CRERERE IR, C) D) BRI G AT R 1 R IR R O A T I 3 A el
R AR EE SR AR, LT A R sk AR R e L 2
B AR E A R E W R | B 5.
22, [EEAR) B) P4 H(ENEE, HHEMAHERE I B | 07 Thatching is a solitary crafi, which often funs in fami-
lies™ 3% 6] 55 HH Y rans in families F1ETE ) handed down among Family members 8 354804, 72 & 0
R, Fir LA 2T B) R4
[FARH] A) IEWEE. (£ 55 3 EH 2 6] he craft of thatching as it is practiced today has changed very little
since the Middle Ages. A BIFETIN, RIS, C) BEMM 500 413 B 3 1) Over 800
fuli-time thatchers are employed in England and Wales today A9 5258 800 #5644 8id 0 AR A B
SHELESMMMAR AR TPHFRFTEDE T EMEEYRT. D) TREF, hE
£ L collective activity, T 0] £ (00T, —fE B 9| b H B
23 [EEER] ) SRR, EERE RS I BE 4 A& Many properly owners choose thateh no only for ns
beauty but because they know it will keep them cool in summer and wann in winder, 7 B 0K |
ANTEAR thateh #YP9-Bdy, -8 beaury , SRR 0VRY style 0, L5 W 8050, 38 Bk o o g
comfort 1 &0 gk B3] 35 A4S L BT L0
[RB] VBIC) BRT XTh&EH £ LFPRABMAMMIET
24. [BE] C) B HEE, FEER GRS —B O However, they may lack the monev 1o allow them to impirt
the necessary materials. ", 30 % B b [H SE R thatch SO, & 2 H B8 T thach, (1258 7
AL A HO B R chateh B EEAY.
[paft] o) EUBER EASCEST. B) CUBELA, #iad St A REE QR e, D) X
AR, P B R AR TR ey
5. [BEM) D) MR CESE2 BE 855 Thaching is in fact the oldest of all the building crafis practiced in
the British [sles( #4E i ). " HIH 3 BF 2 B1HE" The cralt of thalching as it is practiced today has
changed very linle sinee the Middbe Ages. ™ # ol B thatch house BER HAGHAF deiy, &0 D) 8
Fffa-r g8,
[BaBR] A) b & H, Thaeh house fEFEE W BE T HA GG thawh house # special liking fF 476 SLEE
R AHEFSH S, B) LIRS, b - FFERRFEY hill LR 8P T T R thateh house 38
FLERAE bl Fi. C) Xeh&Ed, Wb 4R hateh house B8 L ORRY . AREM S A % E
WAT B R R AT

Passage Two
[WHiEEE]
prestige [ pres'tizg] o S8 R base on £E - HEH |
monopoly | mMa'nopali! o i theoretically | Bia'tetikali | ade. BEiE b BRibHE

anstocratic | mnsta’kretik] odf. HEES, HELH
inherited [ in'heritid | o). #7208 E 19 FI A, B IEH BRI
[RAAH#]
O peason is that Americans view business as being more lirmly based op the ideal of competition than other in-
stilutions in sociely,
FEEE - tha 3 FAER N RS as being more--than uther institutions" 5 58 1
business F40 il MERE L EP . H -8 more Grmly based than other institutions. "
[ 4]
2. [MERR) B) A L ERE, F WA CRTE TR R OI8 T business § AL business #5445
L] WA R Wl b commerce, industry, trade )" $F 6 R COB & T allair, duy ), R
FHXBA TR N EE AL FEIRTE T AT business R A FESS LD
A7 54 business W EH T, S8, MEF D" primary concem™ 1F 2" 5 8 5k 49 o]
oS .
(RaBE] A) Foep 38, 20 0P B 80P 2 (R E i S5 35 e b ot (RRE , 31 R S B AR R T R




C) RPER, PG RBEARMNE, Aol EHER. D) RURELA, 0P business B4 % E
CALERBEEN ARTEEEFPEARESRE.

27, [MER) C) 35 S0, B E UEE 2 BHE 2 B Since competition is seen as the major source of
progress and prosperity by most Americans, competitive business institutions are respected. " FUE 3 0]
i Competition is nol only good in itself, it is the means by which other basic American valees <~
B (R i R A M E AR PR KR U A e DL A ST A
firfi.

[ M) A B EREN, At 5 LD B competition FEEE TALER. 0 BEEFE, EIFEH
e A M AR G |

26 [EEER] D) fEi5 RIGARE . RIUGUCHE (08 S BIeh 308, o RO 3 ERAY R RLOK I 1 competition {i {{L4P 0%
F L RIFIRT R ESAY 2 al pE ,

[BEBE] ) C) bR, D a Rt e o def), Fool 0. By RDURELE. Toh s 7 f
government $H 5 1R £ P FE. IR HH D benefie £ 5009 78

20, [BEER) BOS Y RUBREN TEMAE R TS BEEE | H)EEC A contrast s often mude between business . which is
vompetitive, and government, which is a monopoly. ", E0E T # 3 FIE A 6 i SR &R A
I A A L monopoly O 45 B ETE A 84 absolute coneel © 8 5] 32 R

[REBE] A C0 D) FosrsER L = g M FE A I povernment F business #4200 2 8k op Ry R4
flLCHINE.

o, [MER] A0 HePREN. EEEINHEE U kB2 8)i% Competition is seen as sn open snd fair race where sueeess
goes to the swiftest person regardless of his or her social class backgroand. ™ HeP = social class back-
ground ™ 5f FEIR R social status™ WG B RR DR A A o] LUE B ILRIEE, T AR -
vial status 7 ¥, 5 AT

(BB B C) D) TepEF A P8 SR L EE R, b O/ CEE AN S
i [E i A B

Passage Three

[AETH]
appeal o A K OY dieter [ daiata o T RN E
culorie | 'Kalari] n. REEHE alice [ slais | n, #EH HIH
dietetse [ daia'tetik] ady, RO DER

$: 32533

For example, some slverizers have appealed to people” s desire Tor better Tuel economy Tor their cars by adver-

lising autnmotive products thal improve gasoline mileage.

AT RN A E P A ] EL S by advertising T U A H0E L SO ATENE )18 appealed | 41T D

AT producta 345 T X F(LIE that 5] SR E M 1)

[ ]

A [EEER] C) HB T oR|RpEr TRREERE RSB 1 A1 The appeal of advertising o buyimg mitives can have
both negative and positive effeets. ™, BRI & 045 ] R @0E I 9% & 00 20 E0, YIRS Bl e
A
&

(BaBE] A0 T, P AL 1 quality 30 proce, {H B4 10 % maintain — T balanee, 28 4 A K F
BOINEE AR AL, B) D) RIS, I i B O T A T, AL A
it

320 [BEER) A A HIETE . GRREPE R AT AR S m] B O R TR B 2 PR ) bul there were the same
numibser of calores in every boaf™ 755 R ¥ 040 R B B0 (AT IR B A AL R B
ol Y -MmE L BT ERS . B H R AT R R L AT L

[M4RE] B) LUEALE. S BFiG R AU 7 B SRELT AW g5 ) pUEE
2 Eehin was sliced very thin RTEE SR EZ. DY) RURELE S 2 B bt just regular
bread % - 8-S iAIE A T HE

33, [HE) C) S bIeE . & BEEARS TA T B PR, AT, S 3 BitiR

|3 —



R ST i R . S U BT

[BaBk] Ay TohEF, P4 sl & 380 T S H W I A, occasionally Flisli A 4KHE B) BIBELE.
SO B R I W L AN e R B A A G REN, LR . D) RUREL
B, i fire insurance RE{HAY , (RI008A R

M. [BR] B) MEHE. e T ARIE AR R EEIES 4 TS Fach consumer must evalu-
ate her or his own situation™ | [ 2% &M HH B 2 AFES. X FEREMAYES.

[BaRE) A) Toh&ER, PR FCAE LR C) ERER. L P, & Xk HA &4 LA
) 1], A RESEEREE TSR A L. D) RS fL ARSI R A A LR
EAE A A

35. [@ER] D) EEBL A FE W 0 A B SR A R T EL A TE T AR KT
RS ET OB S RIO D) LR 1 IR T R PR LAE .

[BaBE] A) bR L CP i A RPN A S RN Gt R B BT 4 9 R e R
PR SR R CEEEEE. B) ThER, P AR A A B how
to make a wise buying decision. C) MBELE ., L arafin 2" 5 AU he, HE A B in promoting
sale JyETRIZNHE, M7 B S 4K b 0k R 7 1 AY SO HE

Passage Four
[iAiE 5]

distinguish [ dis'tipgwif " r. X5, #5) seratiny [ 'skrustini | oo PRI A #F

interchangeable | inta'tfeindzabl | adj. nf 4] quest | kwest ; n. K HE o e FH

eliminate | i'limineit | o, HEBE, (B ER
[Hmmit)

The function of teaching is 10 create the conditions and the climate that will make it possible for children o de-
vise the most efficient system for teaching themselves to read.

R E AN, By B AGE R IE 10 create the conditions and the climate” % | fif 4 that j£ — %
FACIA G 09 M E G 3 9 T2 15 the conditions and the climate™ | Hepiy it 225, B H R R
FT I AN AR to devise the most efficient system---" 1 G 1E A9 B L B U T 942 7016088 & 14
FIEREE (T TOT BRI F i1 B O 5 R O Rl
[+
36, [REAR] A) S ¥ BB, B Ao md 1 BESE 3 4095 " It is centainly not endless hours spent in activi-

tes about reading. ", ot endless TiiRITH A oo much BE L Frfe i E TR LY Teaching
children to read

[BaR] B) X &R, Wil HniA BRSSPI EERTSE O TPER. UPE4AH
R, D) BIEREAK, 24 (LR L ad IRk AR BLA 3, R AR EIBAER 20k LoE
SEMLR TS5

37. (SERR) D) A MRS ST BEH - 104% " The function of teaching is to create the conditions
and the climate that will make it possible for children to devise the most efficient system for teaching
themselves to read. " 30 |8 g0 R AT AE T 28 FIE L RREE AT R ERZ LT

[ BaBH] A) RABELE . MUIMMIAR LS 2 B S — i AFE . 1 can be seen and observed 2 The teaching
B P R ER A IR IR sl br . B IR, 30h i I L B HU L 1] devise
the most efficient system ¥ Py 475735, A B Z 062 devise the most efficient system, C) BIEEE,
condition A 5 TEH I [LAS 21, 4 climate;at school [T THR&EH, EANT.

38, [BEER] C) ial CHIWRRE. S0 AT 3 leaming #11 teaching fif 1 HO8E 45 1 — % B A5 89 FF 81 “ Teaching is a
public activity ; It can be seen and chserved™ [ 1] leaming® is not open to public scrutiny™ ., 3T i, scruti-
ny 45 be seen and observed 0 & LT, 20T LLRE B observation S iF R E S

[ BaBH#] A)suspicion S5EE FEE;B) control #28]:D ) inquiry [RGB 2
39. [REAR) D) HEFREE, HURCES4 B BN E, LLESES BES - b)i%" Leaming to read is made eas-

ier when teachers create an environment where children are given the opportunity to solve the problem of

learning to read by reading. ", W[ LAFE 5 D)V %34 510 E — 8L ORISR
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